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dS dqrev T

dS =
dqrev
T

S =
dqrev
T

S =
qrev
T

TH
QH

TH

TL
QL

TL

dS =
QH

TH

QL

TL
= 0
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U = w + q

U = w + q = 0 q = - w

qrev = - wrev = nRT ln
Vf

Vi

S =
qrev
T
= -

wrev

T
= nR ln

Vf

Vi

dS =
dqrev
T

dqrev = CVdT

dS =
dqrev
T

=
CVdT

T

S =
CVdT
T

Ti

T f

= CV ln
Tf

Ti
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S fus =
H fus

T f

H fus

T f

Svap =
Hvap

Tb

Hvap

Tb

Hvap

Tb
= 85 J / (K mol)
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CP

T

S T = S 0 + CP,S
dT
T

0

T f

+
H fus

T f

+ CP l
dT
T

T f

Tb

+
Hvap

Tb

+ CP g
dT
T

Tb

T

S T S 0 CP,S
dT
T

0

T f

H fus

T f

CP l
dT
T

T f

Tb

Hvap

Tb
CP g

dT
T

Tb
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